S

K44058

K

R

O
—
O
™
O
<
=
N

(®)]
o
o
4
4
X

+
+

EE

Bma—F
E!

O
—
Q\
)
O
<
=
p)

A F-=EETI\=4L






AANHAALMOMENTEN/TORQUES/ANZUGSMOMENTE/COUPLES DE SERRAGE/PARES DE APRIETE/ | MOMENTI TORCENTI/ATDRAGNINGSMOMENT/MOMENTER/ TILTREKKINGSMOMENTER

NL Richtlijnen voor aanhaalmomenten (in Nm) voor zelfborgende moeren, zeskantbouten en moeren. GB
D Richtlinien fir Anzugsmomente (in Nm) flir selbstsichernde Muttern, Sechskantschrauben und muttern. F

Directives for torques (in Nm) for self-locking nuts, hexagonal bolts and nuts.
Directives relatives aux couples de serrage (en Nm) pour les écrous a auto-blocage, les
boulons 4 six et les écrous.

ES Directrices para los pares de apriete (en Nm) para tuercas autoblocantes, tornillos hexagonales y tuercas. i Linee guida riguardanti i momenti torcenti (espressi in Nm) per dadi autobloccanti,

S Riktlinjer for atdragningsmoment (i Nm) for sjdiviasande bultar, sexkantsbultar och muttrar.
N Retningslinjer for tiltrekkingsmomenter (i Nm) for selvidsende mutre, sekskantskruer og mutre.

bulloni esagonali e dadi.
DK Retningslinier for momenter (i Nm) for selvidsende mgtrikker, hexagon bolte og matrikker.

KWALITEIT/QUALITY/QUALITAT
QUALITE/CALIDAD/QUALITA/KVALITET 4.6 8.8 10.9 12.9
Wrijving/Friction/Reibung/Frottement/
Friccion/Frizione/Friktion/Friksjon * 0,10 0,13 0.10 0.13 0,10 0.13 0,10 0,13
Schroefdraad/Thread/Gewinde/Filetage
RoscalFilettatura/Ganga/Starrelse/ Gjenger
M5 1,7 2 5 6 7 9 8 10
M6 3 4 9 10 13 15 15 18
M8 8 9 21 25 31 36 36 42
M10 16 19 40 50 60 70 70 85
M12 27 32 70 85 105 120 120 145
M14 42 50 115 135 165 195 195 230
M16 65 76 175 210 260 300 300 350
M18 90 110 250 290 350 420 410 490
M20 125 150 350 420 500 600 580 700
M22 170 200 470 560 670 800 780 930
M24 210 250 600 710 860 1020 1000 1180
* NL De wrijvingscoéfficiént van 0,10 geldt voor geoliede plaat, gietijzer, geharde vlakken, vette schroefdraad, etc. De hogere waarde van 0,13 geldt voor een droge plaat. Uitzonderingen op deze tabet zijn vermeld in

het onderdelen- en/of instructieboek. Aanhaalmomenten voor bouten en moeren met gekartelde onderkant, zoals Tensilock en Whizlock, 10% extra.

* GB The friction coefficient of 0.10 applies to oiled sheet, cast iron, hardened surfaces, greasy thread, etc. The higher value of 0.13 applies to dry sheet. Exceptions to this table are stated in the parts- and /or
instruction manual. Torques for bolts and nuts with a knurled underside, like Tensilock and Whizlock, 10% extra.

* D Der Reibungskoeffizient von 0,10 gilt fir gedite Flachen, GuReisen, gehartete Flachen, gefettetes Gewinde usw. Der hdhere Wert von 0,13 gilt fiir trockene Fldchen. Ausnahmen zu dieser Tabelle sind im
Ersatzteilhft und/oder in der Betriebsanleitung. Anzugsmomente fur Schrauben und Muttern mit gerandelter Unterseite, wie Tensilock und Whizlock, zuziiglich 10% extra.

* F Le coefficient de frottement de 0,10 s‘applique aux surfaces huilées, a la fonte, aux surfaces trempées, aux filetages graissés etc. Le coefficient de 0,13 aux surfaces séches. Les exceptions a se tableau sont
mentionnées dans la nomenclature des piéces et/ou dans le manuel d‘emploi. Ajoutez 10% pour les boulons et écrous & partie inférieure crénelée, comme les Tensilock et les Whiziock.

* ES Elcoeficiente de friccion de 0,10 es indicado para planchas lubricadas, hierro fundido, superficies endurecidas, rosca grasienta, etc. Ef valor mas alto de 0,13 es para planchas secas. Las excepciones a este
cuadro se mencionan en el libro de repuestos y/o manual de instrucciones. Los pares de apriete para tonillos y tuercas con cara inferior dentada, como los Tensilock y Whizlock, 10% extra.

o Il coefficiente di frizione pari a 0,10 si riferisce a superfici oliate, alla ghisa, a superfici temprate, a filettature spesse ecc. Il valore piu alto, npari a 0,13, si riferisce a superfici asciutte. Tutte le eccezioni a quanto
riportato in questa tabella, si trovano nel libretto dei pezzi o nel libretto delle istruzioni. | momenti torcenti per bulloni e dadi la cui parte inferiore & zigrinata, come i Tensilock (K 100) e Whizlock, sono superiori del
10%.

* S Friktionskoefficienten 0,10 géller oljad plat, gjutjarn, hardade ytor, smorda géngor etc. Det hogre vardet 0,13 géller torr plat. Undantag fran denna tabell anges i reservdels- och/eller instruktionsboken.
Atdragningsmoment for rafflade bultar och muttar, som Tensilock och Whizlock 10% extra.

* DK Friktionskoefficienten pa 0,10 gaelder for smurte fiader, stobejern, haerdede overflader, fedtholdige gevind etc. Den hgjere vaerdi pa 0,13 geelder for terre flader. Undtagelser il tabelllen er angivet i reservedels-
og/eller instruktionsbog. Nar det drejer sig om momenter for bolte og metrikkers med en riflet underside, som Tensilock (K100) og Whizlock, skal der tilfgjes 10% ekstra.

* N Friksjonskoeffisenten pa 0,10 gjelder for smurt plate, stapejern, herdete flater, innfettete gjenger etc. Den hayere verdien pa 0,13 gjelder for tgrr plate. Unntak fra denne tabelien er angitt i deleboken og/elier i

instruksjonsboken. Tiltrekkingsmomenter for skruer og mutre med riflet underkant, som Tensilock (K100) og Whizlock 10% tillegg.



serial number 27426-27427 c1i STAR SMA TC (2)

f )
(CHECK OIL LEVEL )

ey ! E_Zo 0 | 3 | ] O:a A A W
Bl A
/ | 5
T - M

i
o

[
$
=i

70.009.765-4



serial number 27426-27427 C12 STAR SMA TC (2)

bestelnummer
ordernumzer

aum. G commandar
Sestelinummer

SMA 530 TC 27426
SMA 532 TC 27427

VNB1612474 |1
VGTR1010 2
VGTR1024 1
VGTR2050 1
VGTR2044 1
VNS00S0190 |2
1
1
1
1
2
1

0NN~ W

3 {VGTR1015
10 {VNB1129574
11 |VGTR2047
12 |VNB1943074
13 {VNB130674
14 IVGTR2022

70.009.765-5



serial number 27426—27427 H1 STAR SMA TC (2)

70.009.765-6



serial number

2742627427

H2

STAR SMA TC (2)

bestetnummrer
crdernumber

num. o commander
Bestalinummer

SMA 5.30

VNB3019986
‘VNBZ722393
IKG00353461
KG01067561
IVNB0862093
VNB3868478
'KGOOAT 4661
KGO1067661
KGO1310700
11 |VNB0838993
12 |VNB3210253
13 'KGO1109800
164 |VN30268125
15 |VN30268130
16 [KGO1061361
17 |VNB2726486
18 [KGO0644961
19 [KGO1267561
20 |KG01067761
21 |KGO0474361
22 IVNB2781886
23 [KG00639061
24 |KGO1267361
25 |VNB2722886
26 VNB2722986
27 [VNB2724086
28 |VNB3035886
29 |VNB2863493
30 |KGO1186562
31 [VN19330160
32 VNB0O16878
33 |KGO0641661
34 |KGO1267461
35 |KGO0641861
36 |[VNB3040086
37 KGOO731463
38 |VN31428055
39 VNB2836286
40 [VNB2836093
41 \VNB2836193

am\lO\Lﬂ&\LUl\)——‘

TC 27428

=S

10

S A~ gn

N

2N NNNN=2 =2 =220 00—

= oK

T
N

NN

8.8-M8x50
8/M8/Nyloc

8.8-M10x45
8/M10/Nyloc
A12x8-50

0187

4mm

ALOX175
K100-M10x25
K100-M10x30
K10/M10/Tensiloc

8.8-M12x35
13

18/M12/Nyloc

8.8-M10x30

8.8-M8x20
8,4

L
R

4x30

8.8-M10x35
10,5
8.8-M10x45

10.9-M8x25
40x50x0.5

bestelnummer
c~dernumber

num, o commander
Bestellnummer

SMA 5.32

VNB3205686
VNB2722393
KG00353461
KG01067561
VNB0862093
VNB3868478
KGO047 4661
KG01067661
10 'KG071310700
11 |[VNB0838993
12 |VNB3210293
13 |KGO1109800
14 |VN30268125
15 [VN30268130
16 KG0O1061361
17 |VNB2299186
18 [KG00644561
19 |KG01267561
20 |[KG01067761
21 [KG00474361
22 [VNB3206386
23 |KG00635061
24 1KG01267361
25 [VNB2722886
26 [VNB2722986
27 [VNB3205986
28 [VNB3035886
29 |VNB2863493
30 |KGO1186562
31 |VN19330160
32 [VNB0016878
33 IKG00641661
34 KG01267461
35 [KG00641861
36 |VNB3206486
37 IKG00731463
38 |VN31428055
39 |VNB2836286
40 VNB2836093
41 IVNB2836193

W NONU A~ WN

TC 27427

8.8-M8x50
8/M8/Nyloc

8.8-M10x45
8/M10/Nyloc
A12x8-50

8187

4mm

A40x1,75
K100-M10x25
K100-M10x30
K10/M10/Tensiloc

8.8-M12x35
13
8/M12/Nyloc
8.8-M10x30

8.8-M8x20
8.4

L
R

4x30

8.8-M10x35
10,5
8.8-M10x45

10.9-M8x%25
40x50%x0,5

70.008.765-7




serial number 27426-27427 H3 STAR SMA TC (2)

JA
|[VNB3868478| S s T

.

25
24
23

§—3 ) ., 34

ACCESSOIRE

19
20
21
22

|

70.009.765-8



serial number 27426-27427

H4

STAR SMA TC (2)

SMA 5.30 TC 27428

SMA 5.32 TC 27427
'VNB3868478 |1

1 |VNB3868586 1

2 |VNB1314686 {1

3 |KGO0471961 |4 |8.8-M8x20

4 |VNB1767078 |1

5 0.7 ltr Gearlube GL5 80-90

6 |VN31419024 11 1A16x22x15

7 |KG01032961 |1 |GV/4°

8 |VNB1500202 |1

9 |KGO1799800 {1 |30208

10 'VNB3672602 |1 |z=46

11 |[VNB1262302 1

12 |KG01381900 {1 |6207

13 IVNB3233002 x |71,8x66,2x0,2

14 'VNB3232902 {x |71,8x66,2x0.3

15 |[VNB3233102 |x |71.8x66,2x0.1

16 |[VN31428003 {x |35x45x0.5

17 |[VN31428008 |x |35x45x0.3

18 [VN31428007 |x i35x45x0.1

19 [VN31415028 2 [35x45x2.5

20 |KGOM30500 (2 [1.72x2.5

21 IKGD1099300 2 |A35x2,5

22 |KG00044200 1 (35x72x10A

23 |VNB2470902 |x [79.5x68x0,2

24 |[VNB2471002 ix ;79.5x68x0.3

25 |VNB2470802 ix |79,5x68x0.1

26 [KGO1M30900 {1 |1.80x2.5

27 [KGD0022700 |1 [45xBOX10A

28 |VNB3868602 (1 z=16

29 \VNB1443702 1

30 [KGO1799100 |2 30207

31 |VN36101360 {1 |35x67x7A

32 |[VN36115356 1 |35x72x7C

331VNB1817378

ACCESSOIRE

34 IVNB2596893 I

70.005.765-9




serial number 27426—27427 HS STAR SMA TC (2)

2,2 tr GearLube

GL5 80W-90 (5.30)
2,35 lir GearLube
GLS BOW-90 (5.32)

DETAL E DETAIL D

SR
190]

70.005.765-10



serial number 27426-27427

H6

STAR SMA TC (2)

SMA 530 TC 27426

45 1VN30268130 12

'VN79300813 |1 |

1 KGO1061361 |26 Jmomm

2 IVN3036MI0 1 10.9-M10x10
3 |VN31419200 |1 |A10x16x1

4 |VNB1870178 |14

5 |VNB1290893 |28

6 (VN90296323 |7 {Z=45

7 IVN90296324 |7 1Z=38

8 [VN36510023 128 |40x48x2.3
9 VN10283503 |6

10 |VN65450080 11 |8

11 |[VN31103432 |2 |B10x8-32
12 |VNB135%9002 |2

13 |VNB1645986 |1

14 |VNB1649878 |1

15 |VN36112056 |8 !V-55A

16 |VNB1519586 |2

17 |VN19343282 12

18 |VN36107380 (26 10x3.5

19 |VNB1357086 |6
ZOIVNB1357186 2

21 \VNB1282578 |1 |

22 1VN17883651 |1 iM1Bx15

23 2.2 itr GearLube GL5 80-90
24 Dow Corning 7091
25 VN36107379 |8 |17x3

26 |VNB1294302 |4

27 |KG00336261 |4 [10.9-M10x50
28 |VN30257139 |2 |8.8-UNF5/8"x51
29 |VN90081618 |8  [10.9-M10x30
30 |VN36107377 |8 [112x3

31 |VN30268125 |26 |K100-M10x25
32 |[VN90284912 |2

33 |VN9D070360 |6

34 'VNB1519686 |6 !

35 \VN30803719 |6 (13x55

36 |VN30804855 6 |8x0,75-55
37 |VN40130207 |6 [NU-207-C4
38 |VN17871304 |6

39 |VN17871470 6

40 VN40101527 6 16207-LLU-C4
41 [KGO'M30500 lz 172x2.5

42 VN4OM7211 |2 ‘BAH—OO12
431VN79300654 2 |Assembly
44 |VN79300655 |6 Assembly

K100-M10x30

SMA 532 TC
{VN79300812 |1

27427

1 IKG01061361 |26
2 |VN3036M10 11
3 |VN31419200 |1
4 'VNB1870178 114
5 |VNB1290893 |28
6 |VN90296323 |7
7 |VNS0296323 |7
8 |VN36510023 |28
9 |VN10283503 |6
10 |VN65450080 |1
11 ;VN3103432 |2
12 {VNB1359002 |2
13 |VNB1621186 11
14 |VNB1359786 |1
15 [VN36112056 |8
16 |VNB1519586 |2
17 |[VN19343282 |2
18 {VN36107380 |26
19 |VNB1357086 |6
20 |VNB1357186 |2
21 |VNB1282578 |1
22 |[VN17883651 |1
23 2
24
25 |VN36107379
26 [VNB1294302
27 {KGOD336261
28 |VN30257139
29 [VN90081618
30 |VN36107377
31 |VN30268125
32 {VN90284912
33 |VN90070360
34 |VNB1519686
35 |VN30803719
36 |VN30804855
37 |VN40130207
38 |VN17871304
39 [VN17871470
40 VN4O101527 16
M |KGo1130500 lz
42 'WN4LOM721 12
43 [VN79300654 |2
44 1YN79300655 |6

CO RO NN ORN ™S

451VN30268130 12

K10/M10
10.9-M10x10
A10x16x1

Z=45
1Z=45
40x48x%2,3

8
B10x8-32

V-55A

10x3.5

M18x1,5

.35 ltr GearLube GL5 80-90

'Dow Corning 7091
17%3

10.9-M10x50
8.8-UNF5/8"x51
10.9-M10x30
12x3
K100-M10x25

13x55
8x0,75-55
NU-207-C4

6207-LLU-C4
172x2.5
BAH-0012
Assembly
iAssembly
K100-M10x30

70.009.765-1




STAR SMA TC (2)

H7

serial number 27426-—-27427

’—— Ma = SONm
i

70.009.765-12



serial number 27426-27427

H8

STAR SMA TC (2)

bestelnunmer
orderaumaer

num, a comrcrcer
Bestelinummer

SMA 5.30
SMA 5.32

VN79300813
VN79300812

TC 27426
TC 27427

1
1

i5.30
532

A |VN90081616
KG01061361
B |VN90081617
KG01061361
C |VN30268125
D [VN90081618
KG01061361
E |VNB1870178
KGO1061361
F |KG00336261
KG01061361
G VN30268125

KGO1061361
H lvN30268130

24
24
16
16
26
32
32
14
14
4

4
6
6
2

10.9-M10x20
K10/M10
110.9-M10%25
K10/M10
K100-M10x25
10.9-M10x30
K10/M10

K10/M10
10.9-M10x50
K10/M10
K100-M10x25
‘K10/M10
K100-M10x30

70.009.765-13




serial number 27426-27427 Ho STAR SMA TC (2)
b2—— 7 ACCESSOIRE
43——\\ P 7 O VN79141513X
4l P ' .

O~ 4y

50

16

61

%/AC‘CESSOIRE

VN79141323X

70.009.765-14



serial number 27426-27427 H10 STAR SMA TC (2)
bestelnummer bestainummar
argernumber arocernember
num. 0 Commonder num. o commander
Beslelinummar Bestelinummer
SMA 530 TC 27426 SMA 532 TC 27427
VN79300813 |1 | 40 [KGO0468561 |1 18.8-M6x20 VN79300812 |1 41 |VNB1666493 11
1 |VNB1361286 |2 41 |[VNB1666493 |1 1 |VNB1361286 |2 42 [VNB1667493 1
3 |VNB1191286 |1 42 [VNB1667493 |1 ! 2 |VNB1191286 |2 43 [KGO1067361 1 8/M6/Nyloc
4 |VNB1191386 1 431KG01067361 |1 |8/M6/Nyloc 5 |VN18645928 |6 44 \VNB2847186 |1
5 |VN18645928 |6 44 |VNB2847186 |1 ! 6 |VNB1361586 1 |L 45 |YN65410171 1 |17-19
6 (VNB1650186 (1 L 45 (VN65410171 11 {17-19 7 VNB1361686 1 R 46 [VNB2721386 '6
7 |VNB1650286 |1 iR 46 |VNB2721386 |6 8 |VN18613484 |6 47 |VN30361830 |18 |10.9-M8x30
8 |VNB1650086 6 47 |VN30361830 |18 110.9-M8x30 9 |VN30268125 |6 [K100-M10x25 48 |VNB3557486 11 |L
9 |VN30268125 ;6 |K100-M10x25 48 |VNB3557586 |1 (L 10 |KGO1061361 |6 :K10/M10 49 1VNB2170078 \1
10 [KG01061361 16 ‘K10/M10 49 1VNB2170078 11 11 IVN98684063 17 [
1 |VN98684063 |7 | VN79141513X |1 |ACCESSOIRE
VYN79141513X |1 |ACCESSOIRE 12 |VNB2280986 |3 |L 16 [VNB1374593 24 M12
12 |VNB2281286 3 L 16 |VNB1374593 (24 |M12 13 |VN90258699 {12 L 17 KGO1068961 |24 [10/M12/Nyloc
13 .VN90258699 (12 L 17 |KGO1068961 |24 110/M12/Nyloc 14 |[VNB2281086 {3 IR 50 IVNB2493502 124
14 |VNB2281386 |3 R 50 IVNB2493502 124 | 15 |VN90258700 {12 |R
15 |[VN90258700 |12 R 16 [VNB1374593 24 VN79141323X 1 |ACCESSORE
16 'VNB1374593 {24 VN79141323X|1  JACCESSOIRE 17 |KGO1068961 |24 110/M12/Nyloc 49 |VNB2170078 '1
17 |KGO1068961 |24 110/M12/Nyloc 49 1VNB2170078 |1 18 |[VN98664785 |6 52 IVNB2170478 11
18 [VN98664785 6 52 IVNB2170478 4 19 |VN30268125 |28 [K100-M10x25
19 |VN30268125 {28 |K100-M10x25 20 |[VNB2869586 1 |R 61 [VN79300256 |1 |ACCESSOIRE
20 [VNB2869686 1 R 61 |VN79300256 |1 |ACCESSOIRE 21 |[VNB1613286 |1 X I 8 1
21 |VNB1613286 |1 X 8 22 |VN30361820 |17 |10.9-M8x20
22 [VN30361820 117 |10.9-M8x20 23 [KG01267361 |55 (8,4
23 |[KG01267361 ‘55 8.4 24 |VNB1667593 1
24 (VNB1667593 | 25 |[VNB0622186 |1
25 (VNB0622186 |1 26 |VN30268140 j4 K100-M10x40
26 |VN30268140 |4 |K100-M10x40 27 |VN46170003 |1 |DG 3100
27 [VN46170003 |1 {DG 3100 28 |[KGO1194162 {1 110x50
28 |KG01194162 11 110x50 29{VN41702800 |1 |MBx1
29 VN41702800 11 |M8x1 30 [VNB2151978 |1
30 |[VNB2151978 |1 31 |VNB2151878 |2
31 IVNB2151878 (2 32 |VNB1732678 |2
32 [VNB1732678 2 33 |VNB1612502 |2
33 |VNB1612502 12 34 |VNB1612602 |2
34 |VNB1612602 2 35 |VNB1684886 |4
35 [VNB1684886 14 36 |KGD0472461 |2 |8.8-M8x40
36 |KG0Q472461 12 [8.8-M8x40 37 |KGO0472161 |6 |8.8-MBx25
37 [KGO0472161 |6 |B.B-M8x25 38 |KGO1067561 |28 |8/M8/Nyloc
38 |KG01067561 |28 |8/M8/Nyloc 39 |VNB2847086 |1
39 IVNB2847086 11 401KG00468961 11 18.8-M6x20

70.009.765-15




serial number 27426-27427

STAR SMA TC (2)

26 33 32

70.009.765-16




serial number 27426-27427

H12

STAR SMA TC (2)

vestelnummer
ordernumber

num. @ commender
Bes'ellnummer

SMA 5.30
SMA b5.32

VNB3536786
VNBOO16878
VN31428014
KG01099000
VNB1614593
KGOOB47861
KGO1067561
9 |VNB1614693
10 |KG01398700
11 |VNB1793478
12 {VNB1615493
13 [VNB1615593
14 1KGO1067761
15 |KG01043361
16 |VN31471250
17 |VNB1615853
18 |VNB2091886
19 'VN99330118
20 [VNB2726680
21 [VNB2728486
22 (KGOD4T71961
24 [KGO1259761
25 |KG00472161
26 [KG01067661
27 |VNB1672286
28 [KG00639661
29 |VNB1798453
30 KGOO474461
31 |KG01260361
32 |KG01052061
33 'KG01267461
34 (KGO0475061
35 lVNB3035786
36 IKGO0476561

O N WN -

N = 2 NNWa 3 AaNNVW 22 2w

SN N U

TC 27428
TC 27427

u N =

30%x42x1
A30x2

10.9-M8x25
8/M8/Nyloc

6305-2RS

8/M12/Nyloc
8/M12/laag
13

8.8-M8x20
A8.4
8.8-MBx25
i8/M10/Nyloc

8.8-M8x50

8.8-M10x35
'A105
8/M10
.10,5
8.8-M10x65

l8.8—M12x30

70.008.765-17




serial numbar 27426-27427 H13 STAR SMA TC (2)

¢

~ antite'270

70.009.765-18



serial number

2742627427

H14

STAR SMA TC (2)

O 00 NOoU W N

2
2
2

2

=Y
(&)

besteirummer
ordernumber

num. G commcrder
Bestalinunmer

SMA 5.30

VNB3340186
VNB1648893
VN30268130

'VN40737109

KGO0476661
KG01067761
VNB1648593
VN31103540

11 |VN40739009
12 {VN31428054
13 |VNB0838993
14 |VN43303437
15 |KGO1109800
16 |VNB3652586
17 |VN30276490
19 [KG01067961

0 |VNB2869786
1 |VNB2728386
2 |[KG01267561

23 \VNB3015386

4 1KG0064 4961

VN41702600 |

TC 27428

o A

P N Ny R Y e I )

68
68
68

AN ON

K100-M10x30
Loctite 270
PME 45
5.8-AM6x1
8.8-M12x35
8/M12/Nyloc

B12x8-40
RME 45
40x50x1

9187

XPB 1830
A40x175

12.9-M16x90
8/M16/Nyloc

13

8.8-M12x35

bestelnummer
ordernumber

fum. a commanger
Bes!ellnummer

SMA 5.32

VOO NOoNUT S WN

A O S S N S S QY
NNNNNIJIZTRURID

VNB3340286
VNB1648893
VN30268130

VN40737109
VN41702600
KG00476661
KG01067761
VNB1648553
VN31103540
VN40739009
VN31428054
VNB0838993
VN43303437
KG01109800
VNB3652586
VN30276490
KG01067961
VNB2869786
VNB2728386
KG01267561
VNB3015386
KGOQ0644961

LA

TC 27427

[ NNt i W N, S WY

72
72

NN oOONN

K100-M10x30
Loctite 270
PME 45
5.8-AM6x1
8.8-M12x35
8/M12/Nyloc

B12x8-40
RME 45
40x50x1
»187

XPB 1830
A40x1,75

12.9-M16x90
8/M16/Nylac

13

8.8-M12x35

70.009.765-19




serial number 27426-27427 STAR SMA TC (2)

70.009.765-20



serial number 27426—-27427 H18 STAR SMA TC (2)

bestelrummer
crdernumber

nuUT. O commander
Bestellnummer

SMA 5.30 TC 274286
SMA 532 TC 27427

VN31419301

VNB1864393
VNB1864102

VNB1864293
VNB1864493
VYNB1864502
VN31467300
KG01040861

VN41702800
VNB2877093
‘VNB2877186

A6x10x1

Al4
8/M14x1,5
5.8-AM8Bx1

O N O U W N

A A A A A LA NN e -

3
30

70.009.765-21



serial number 27426-27427 L1 STAR SMA TC (2)

70.009.681-22



serial number 27426-—27427 1.2 STAR SMA TC (2)

sestalnumner
s-de-number

nam, o commander
3estelinumner

SMA 530 TC 27426
SMA 532 TC 27427

1 |VNB2725786
4 IVNB2770780
5 VNB2770980
6 |VNB2770880
7
8
9

a

VNB2855380
VNB2855480
VNB3041080
10 [VNB3041180
14 :KG00645061
15 |KG01267561
16 [KG01067761
17 |KG00355561
18 |KGO1267461
19 |KG01067661
20 |KGO0355461
21 |[KGOQ475361
22 KG01260361
23 |KGO0641661
24 [KGOQ471961
25 KG01259761
26 |KG01067561
27 (KG01267361
28 [KG00639061
29 KGO0355661
30 |[VNB3757286
31 IVNB3757386

ararnr

8.8-M12x40
13
8/M12/Nyloc
8.8-M10x55
10.5
8/M10/Nyloc
8.8-M10x50
8.8-M10x80
A10.5
8.8-M10x35
8.8-M8x20
AB.4
8/M8/Nyloc
8.4
8.8-M8x20
8.8-M10x60
L
R

~Noa

Y Y N ° IR\ QT Y =

- N

70.009.765-23



1.3 STAR SMA TC (2)

serial number 27426-27427

70.009.765-24



serial number

27426-27427

.4

STAR SMA TC (2)

VO NOUWN

=y
[e

7
18
19
20
21
22
23
24
25
26
27
28
29
30
31

Sestelhummer
crderoumber

num. ¢ commander
Bes'ellnummer

SMA 5.30

'VNB3581980

VNB2212286
VNB2770586
VNB3041386
VNB2837086
VNB3581686
VNB3041486
VNB3067386
VNB2980186
VN17856588
KG00639061
VN30270285
KG00472161
KG01259761
KG01067561
KG00472661
KG00471961
KGOC641461
KG01267461
KG01067661
KGO0641661
KG00476661
KG01267561
KG01067761

KG01267361

TC 27428

8.8-M8x20
8.8-M12x85
8.8-M8x25
AB.4
8/M8/Nyloc

8.8-M8x50

8.8-M8x20
8.8-M10x25
10.5
8/M10/Nyloc
8.8-M10x35
8.8-M12x35
13
8/M12/Nyloc
8.4

bestelnummer
crdernumber

num. @ Zomnander
Bestelirummer

SMA 5.32

O O NOUT N WN

—
o

17

18

19

20
21

22
23
24
25
26
27
28
29
30

VNB3592880
VNB3206686
VNB2770586
VNB3041386
VNB2837086
VNB3592986
VNB3041486
VNB3067386
VNB2980186
VN17856588
KG00639061
VN30270285
KG00472161
KG01258761
KG01067561
KGO0472661
KGC0471961
KG00641461
KG01267461
KG01067661
KG00641661
KGO0476661

KGO1267561 |

KG01067761

31 IKG01267 361

TC 27427

0 = O S AaAaN N

gy
ST RRRNBYYSR

[V e

20

8.8-M8x20
8.8-M12x85
8.8-M8x25
AB.4
8/M8/Nyloc
8.8-M8x50
8.8-M8x20
8.8-M10x25
10.5
8/M10/Nyloc
8.8-M10x35
8.8-M12x35
13
8/M12/Nyloc
8.4

70.00%.765-25




serial number 27426-27427 1.5 STAR SMA TC (2)

VN79302640X (SMA 530 TO)
VN79302641X (SMA 5.32 TQ)

70.009.765-26



serial number 2742627427

.6

STAR SMA TC (2)

bestelnummer
ardernumber

Aum, 2 commonder
Besteilnummer

VN79302640X 11

10
1

12
13
14
15
30
3
35
36
37
38
40
42
43
44
45
46

'VNB3043286

VNB2810386 1
VNB2810486 |1
VNB3898580
VNB3042386
VNB3894486
VNB3894386
VN30380200
KGO1261061
VN38234250
KGO0641361
KGO0641961
VNB2777093
VNB2452993
VN17856588
KGO0641561
KG01067661

NN MNSN 2

o

VNB3043486
KGO0641461

JEr—

VNB3753086

SMA 530 TC 27426

‘C15-M12

A13
A13/Nylan
8.8-M10x20
8.8-M10x50

8.8-M10x30
8/M10/Nyloc
L
R
8.8-M10x25

bestelnumnmer
crdernember

num. g commander
Bestellnummer

SMA 532 TC 27427

VN79302641X |1

2 |VNB2810386 1 L

3 lyNB2810486 1 |R

10 |VNB3898680 |1

11 |VNB3042386 |2

12 |VNB3894486 |4

13 |VNB3894386 |4

14 |VN30380200 |2 |C15-M12

15 |KGO1261061 |20 |A13

30 |VN38234250 {2 |A13/Nylon
31 [KGO0641361 116 |8.8-M10x20
35 [KGO0641961 |4 |8.8-M10x50
36 |VNB2777093 |4

37 (VNB2452993 |4

38 |VN17856588 |6

40 |KGO0641561 |4 18.8-M10x30
42 [KGO1067661 12 |8/M10/Nyloc
43|VNB3043286 1 L

44 |\VNB3043486 1 |R

45 KGO064L1461 |2 B.8-M10X25
46 lyNB3753086 12 |

70.009.765-27




STAR SMA TC (2)

.7

serial number 27426-27427

70.009.765-28



serial number

27426-27427

STAR SMA TC (2)

V0N U N WN >

iy
[}

bestelnunmer
crdernumter

num. @ commondar
Sesfelinummer

SMA 5.30

VYNB2818786
VNB3153578

VNB2812986
VNB2913902
VNB2813086
KG00353361
KG01259761
KGO1067561
KG00353461
KGD0471961

VNB1849993
iVNB1950678
KG01267561
KG01186062
VNB2914002
VNB3744080

VN90081623 !

VNB1850086

TC 27426

— = gy
B)O‘N ~ -

N
~

=SSN BAENNN A

8.8-M8x45
A8.4
8/M8/Nytoc
8.8-M8x50
8.8-M8x20

13

14%20

bestelnummer
ordernumber

num. @ commancer
Bestelinummer

SMA 5.32

IVNB3206186
VNB3406978
VN90081623
VNB2812986
VNB3216602
VNB2813086
KG00353361
KG01259761

KGO1067561

KG00353461
KG00471961

VNB1850086
VNB1849993
VNB1950678
KG01267561

KGO186062

VNB3216702
VNB3744180

TC 27427

= SN AENNNA

8.8-M8x45
AB.4
8/M8/Nyloc
8.8-M8x50
8.8-M8x20

13
4x20

70.009.765-29




serlal number 27426-27427 STAR SMA TC (2)

70.009.765-30



serial number

2742627427

1.10

STAR SMA TC (2)

besteinummer
ordernumbear

num, @ commonder
desfellnumme-

SMA 5.30
SMA 5.32

VNB1625386
VNB1627386
VNB1266986
VNB1746186
VNB1746286
KG01251461

VYN30268130
KG01260361
KG01061361

O 0 NOsUT s WN

QY
S o

VNB2813180
VNB2813280
VNB2840478
VNB2840578
VNB2815302
VNB2815202
\VNB2814702
20 |KG01067561
21 KG00471961
22 |VNB1684886
23 |KG00357761
24 |KGO1067761
25 |KGO0472261
26 |KG01259761
27 [VNB2115186
28 VNB1849893
29 |VNB1625886
30 (KG00474861
31 KG01052061

[ N Y
N~ WN

33 |[VNB2834086
34 |VNB2833986
35 |[VNB2833886
36 |VNB1509078
37 IKGO0639061

N~

VN30268120 °

32 [VNB2834186 -

TC 27426

TC

NN S OSSNy -

D NN NRNOOOW= 2 2
- (=}

NNN-_ =" NMNNNRNN

—
O

27427

4x20
K100-M10x30
A10,5

K10/M10/Tensiloc

K100-M10x20
L

R
L
R

8/M8/Nyloc

8.8-M8x20

8.8-M12x60
8/M12/Nyloc
8.8-M8x30
AB.4

i8.8-M10x55
‘8/M10

8.8-M8x20

70.009.765-31




serial number 27426-27427 1.1 STAR SMA TC (2)

LINKS
LEFT
GAUCHE

RECHTS
RIGHT
DROITE




serial number

27426-27427

112

STAR SMA TC (2)

bestelrumrmar
crdernumber

rum. o commanrder
Bes'ellnummer

SMA 5.30
SMA 5.32

VNB2757786
VNB2757886
VYNB2758386

KG01192062
VNB1743093
KG01186062
VNB2758293
KG00474061
VN31467100

WoNONUUT~NWN -

=
o

VYNB2758093 |

TC 27428
TC 27427

8x50

4x20

8.8-M10x20
A10

70.008.765-33




2 SMATC STAR
Part no.

Teile-nr.

No. de ref.
Onderd. nr.

Nom. de pza

KG00022700
KG00044200
KG00336261
KG00336261
KG00353361
KG00353461
KG00353461
KG00355461
KG00355561
KG00355661
KG00357761
KG00468961
KG00471961
KG00471961
KG00471961
KG00471961
KG00471961
KG00471961
KG00472161
KG00472161
KG00472161
KG00472261
KG00472461
KG00472661
KG00474061
KG00474361
KG00474461
KG00474661
KG00474861
KG00475061
KG00475361
KG00476561
KG00476661
KG00476661
KG00639061
KG00639061
KG00639061
KG00639061

NUMERICAL INDEX / NUMMERN-VERZEICHNIS / INDEX NUMERIQUE / NUMERIEKE INDEX / INDICE DE NUMEROS

Page: 01 Part no.

Selle
Page
Pagina
Pagina

HO4
HO4
HO6
HO8
1.08
H02
1.08
1.02
1.02
1.02
1.10
H10
HO4
H12
1.02
1.04
1.08
110
H10
H12
1.04
1.10
H10
1.04
112
H02
H12
HO2
110
H12
1.02
H12
H14
1.04
H02
1.02
1.04
1.10

Teile-nr,

No. de ref.
Onderd. nr,
Nom. de pza

KG00639661
KG00641361
KG00641461
KG00641461
KG00641561
KG00641661
KG00641661
KG00641661
KG00641861
KG00641961
KG00644961
KG00644961
KG00645061
KG00731463
KG00847861
KG01032961
KG01040861
KG01043361
KG01052061
KG01052061
KG01061361
KG01061361
KG01061361
KG01061361
KG01061361
KG01067361
KG01067561
KG01067561
KG01067561
KG01067561
KG01067561
KG01067561
KG01067561
KG01067661
KG01067661
KG01067661
KG01067661
KG01067661

Page: 02 Part no.

Selle
Page
Pagina
Pagina

H12
1.06
1.04
1.06
1.06
H02
1.02
1.04
H02
1.06
HO02
H14
1.02
H02
H12
HO04
H16
H12
H12
1.10
H02
HO06
HO8
H10
.10
H10
H02
H10
H12
1.02
1.04
1.08
110
HO2
H12
1.02
1.04
1.06

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

KG01067761
KG01067761
KG01067761
KG01067761
KG01067761
KG01067761
KG01067961
KG01068961
KG01099000
KG01099300
KG01109800
KG01109800
KG01130500
KG01130500
KG01130900
KG01186062
KG01186062
KG01186562
KG01192062
KG01194162
KG01251461
KG012569761
KG01259761
KG01259761
KG01259761
KG01259761
KG01260361
KG01260361
KG01260361
KG01261061
KG01267361
KG01267361
KG01267361
KG01267361
KG01267461
KG01267461
KG01267461
KG01267461

Page: 03 Part no.

Selle
Page
Pagina
Pagina

HO2
H12
H14
1.02
1.04
1.10
H14
H10
H12
HO4
HO2
H14
HO4
HO6
HO4
1.08
112
H02
.12
H10
.10
H12
1.02
1.04
1.08
.10
H12
1.02
1.10
1.06
H02
H10
1.02
1.04
HO2
H12
1.02
1.04

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

KG01267561
KG01267561
KG01267561
KG01267561
KG01267561
KG01310700
KG01381900
KG01398700
KG01799100
KG01799800
VGTR1010
VGTR10151
VGTR1024
VGTR2022
VGTR2044
VGTR2047
VGTR2050
VN10283503
VN17856588
VN17856588
VN17871304
VN17871470
VN17883651
VN18613484
VN18645928
VN19330160
VN19343282
VN30257139
VN30268120
VN30268125
VN30268125
VN30268125
VN30268125
VN30268130
VN30268130
VN30268130
VN30268130
VN30268130

Page: 04 Part no.

Selle
Page
Pagina
Pagina

H02
H14
1.02
1.04
1.08
HO2
HO4
H12
HO4
HO04
C12
c12
Ci2
Cc12
C12
C12
C12
HO6
1.04
1.06
H06
HO06
HO06
H10
H10
H02
HO06
HO06
1.10
HO2
H06
HO8
H10
H02
H06
HO8
H14
1.10

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VN30268140
VN30270285
VN30276490
VN30361110
VN30361820
VN30361830
VN30380200
VN30803719
VN30804855
VN31103432
VN31103540
VN31415028
VN31419024
VN31419200
VN31419301
VN31428003
VN31428007
VN31428008
VN31428014
VN31428054
VN31428055
VN31467100
VN31467300
VN31471250
VN36101360
VN36107377
VN36107379
VN36107380
VN36112056
VN36115356
VN36510023
VN38234250
VN40101527
VN40117211
VN40130207
VN40737109
VN40739009
VN41702600

Page: 05 Part no.

Selle
Page
Pagina
Pagina

H10
1.04
H14
HO6
H10
H10
1.06
HO0B6
HO6
HO6
H14
HO4
HO4
HO6
H16
Ho4
HO4
HO4
H12
H14
H02
1112
H16
H12
HO4
HO6
HO6
H06
HO06
HO4
HO6
1.06
HO6
HO6
HO6
H14
H14
H14

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VN41702800
VN41702800
VN43303437
VN46170003
VN65410171
VN65450080
VN79141323
VN79141513
VN79300256
VN79300654
VN79300655
VN79300812
VN79300812
VN79300812
VN79300813
VN79300813
VN79300813
VN79302640
VN79302641
VN90070360
VN90081616
VN90081617
VN90081618
VN90081618
VN90081623
VN90090190
VN90258699
VN90258700
VN90284912
VN90296323
VN90296324
VN98664785
VN98684063
VN99330118
VNB0016878
VNB0016878
VNB0622186
VNB0838993

Page: 06 Part no.

Selie
Page
Pagina
Pagina

H10
H16
H14
H1i0
H10
H06
H10
H10
H10
HO06
HO6
HO06
HO08
H10
H06
HO8
H10
1.06
1.06
Ho6
HO8
HO08
HO6
HO08
1.08
C12
H10
H10
HO6
H06
HO06
H10
H10
H12
H02
H12
H10
HO2

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB08383993
VNBO0862093
VNB1129574
VNB1130674
VNB1191286
VNB1191386
VNB1262302
VNB1266986
VNB1282578
VNB1290893
VNB1294302
VNB1314686
VNB1357086
VNB1357186
VNB1359002
VNB1359786
VNB1361286
VNB1361586
VNB1361686
VNB1374593
VNB1443702
VNB1500202
VNB1509078
VNB1519586
VNB1519686
VNB1612474
VNB1612502
VNB1612602
VNB1613286
VNB1614593
VNB1614693
VNB1615493
VNB1616593
VNB1615893
VNB1621186
VNB1625386
VNB1625886
VNB1627386

Page: 07
Selle
Page
Pagina
Pagina

H14
H02
Ci2
Cc12
H10
H10
HO4
1.10
HO6
HO06
H06
HO4
H06
H06
H06
H06
H10
H10
H10
H10
HO4
HO4
1.10
H06
H06
C12
H10
H10
H10
H12
H12
H12
H12
H12
H06
.10
1.10
.10



Part no.
Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB1648593
VNB1648893
VNB1649878
VNB1649986
VNB1650086
VNB1650186
VNB1650286
VNB1666493
VNB1667493
VNB1667593
VNB1672286
VNB1684886
VNB1684886
VNB1732678
VNB1743093
VNB1746186
VNB1746286
VNB1767078
VNB1793478
VNB1798493
VNB1817378
VNB1849893
VNB1849993
VNB1850086
VNB1864102
VNB1864293
VNB1864393
VNB1864493
VNB1864502
VNB1870178
VNB1870178
VNB1943074
VNB1950678
VNB2091886
VNB2115186
VNB2151878
VNB2151978
VNB2170078

NUMERICAL INDEX / NUMMERN-VERZEICHNIS / INDEX NUMERIQUE / NUMERIEKE INDEX / INDICE DE NUMEROS

Page: 08 Part no.

Selle
Page
Pagina
Pagina

H14
H14
HO06
HO6
H10
H10
H10
H10
H10
H10
H12
H10
1.10
H10
112
1.10
1.10
HO4
H12
Hi2
HO4
1.10
1.08
1.08
H16
H16
H16
H16
H16
HO6
HO8
C12
1.08
H12
1.10
H10
H10
H10

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB2170478
VNB2212286
VNB2280986
VNB2281086
VNB2281286
VNB2281386
VNB2299186
VNB2452993
VNB2470802
VNB2470902
VNB2471002
VNB2493502
VNB2596893
VNB2721386
VNB2722393
VNB2722886
VNB2722986
VNB2724086
VNB2725786
VNB2726486
VNB2726680
VNB2728386
VNB2728486
VNB2757786
VNB2757886
VNB2758093
VNB2758293
VNB2758386
VNB2770586
VNB2770780
VNB2770880
VNB2770980
VNB2777093
VNB2781886
VNB2810386
VNB2810486
VNB2812986
VNB2813086

Page: 09 Part no.

Selle
Page
Pagina
Pagina

H10
1.04
H10
H10
H10
H10
HO02
1.06
HO4
HO4
HO04
H10
HO4
H10
H02
H02
HO2
H02
1.02
HO2
H12
H14
H12
112
112
112
.12
1.12
1.04
1.02
1.02
1.02
1.06
H02
1.06
1.06
1.08
1.08

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB2813180
VNB2813280
VNB2814702
VNB2815202
VNB2815302
VNB2818786
VNB2833886
VNB2833986
VNB2834086
VNB2834186
VNB2836093
VNB2836193
VNB2836286
VNB2837086
VNB2840478
VNB2840578
VNB2847086
VNB2847186
VNB2855380
VNB2855480
VNB2863493
VNB2869586
VNB2869686
VNB2869786
VNB2877093
VNB2877186
VNB2913902
VNB2914002
VNB2980186
VNB3015386
VNB3019986
VNB3035786
VNB3035886
VNB3040086
VNB3041086
VNB3041180
VNB3041386
VNB3041486

Page: 10 Part no.

Selle
Page
Pagina
Pagina

1.10
1.110
1.10
110
1.10
1.08
1.10
1.10
1.10
1.10
HO02
H02
H02
1.04
1.10
1.10
H10
H10
1.02
1.02
H02
H10
H10
H14
H16
H16
1.08
1.08
1.04
H14
H02
H12
H02
H02
1.02
1.02
1.04
1.04

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB3042386
VNB3043286
VNB3043486
VNB3067386
VNB3153578
VNB3205686
VNB3205986
VNB3206186
VNB3206386
VNB3206486
VNB3206686
VNB3210293
VNB3216602
VNB3216702
VNB3232902
VNB3233002
VNB3233102
VNB3340186
VNB3340286
VNB3406978
VNB3536786
VNB3557486
VNB3557586
VNB3581686
VNB3581980
VNB3592880
VNB3592986
VNB3652586
VNB3672602
VNB3744080
VNB3744180
VNB3753086
VNB3757286
VNB3757386
VNB3868478
VNB3868478
VNB3868586
VNB3868602

Page: 11 Part no.

Selle
Page
Pagina
Pagina

1.06
1.06
1.06
1.04
1.08
Ho2
H02
1.08
H02
H02
1.04
H02
1.08
1.08
H04
HO4
H04
H14
H14
1.08
H12
H10
H10
1.04
1.04
1.04
.04
H14
HO4
1.08
1.08
1.06
1.02
1.02
HO2
HO4
HO4
HO04

Teile-nr.

No. de ref.
Onderd. nr.
Nom. de pza

VNB3894386
VNB3894486
VNB3898580
VNB3898680

Page: 12
Selle
Page
Pagina
Pagina

1.06
1.06
1.06
1.06



(% [s—050425A

p. f 066-8555 FETLE#: 106 1FMH2 B EBA 0200173 BSFEEFHERMERFBEERSS52—3
;% 8122—22—;1?2 TEL 019—694—1661
_ - —24 FAX 019—694—1662
FREEXPA 06685 FEHLE#H1061FH#?2 il & EF 983-0013 EHEMESHEHERTDEHFMEA179—1
IT‘I;E\)lz 8122—22—2821 TEL 022—388—8673
_ - - 5 FAX 022—388—8735
7B JI| B ¥ Fr 070-8004 fEJITH##EE4LOTEHIEIGE 0 B E PR 323-0158  #FARE/NMUFR2512—1
IT‘I;E\)lz 8122—2;—2;21 TEL 0285—49—1500
. _ X —62-— 5 FAX 0285—49—1560
EEEXFT 0984100 XEHMEFEHFLHORY 119 15H# LEEEZERM 480-0102 ZBMEMNPMKENAFSHFEERH191
X o102—55- i X 0587 o9 caie
WL E EPF 080-2462 #LammE22%dt1TH 1 2%EM MW E %X/ 700-0973 EJUJL%%)I(JJFI?‘FSEPSEZ 7_09 3—_ °ya o
b= T 4—1083
LN o X 080 o459 1260
- — FAX 086—243—1269
hIEEEEMR 086-1152 1Z2EhIZERTEE2 TH 1652 FEARE (2P 8620939 REAREREAHTREF1TE2H 1S
TEL 0153—72—2624 TEL 096—381—7222
FAX 0158—73—2540 FAX\ 096—384—3525
& = 2w 028-3172 EFECEAHAEARHEEME 1 11EI12083 # W E E AT 885-1202 =IKEHHm=HEFERKHE1003—2
TEL 0198—46—1311 TEL 0986—53—2222
FAX 0198—45—-—59909 FAX 0986—53—2233

¥.17.04.25@®)



